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Given below are the condition possibilities for an if statement

il | truel}] is true then }
| Ttue (currentvaiue) »
o i »
Ifalse| >
g L3
I nextRandomBoolean |
>
NOT Ttrug [ . )
NOT [
TBOTH [ frue| AND 7277 > .
TEITHER | {rug) OR 11799 > [0 == @) »
TBOTH 17777 AND 1227 > [0 T »
EITHER 1797%) OR 1979) .
Relational (DecimalMumber) {== 1=, <, <= 2= =} >
Relational (WholeNumben) { ==, I=, <, <=, >=, > } E I7%9) contentEquals £797) >
Relational (SThing) { ==, |= } 3 /22%] equalsignoreCase 4222  »
TextString Comparison > T%99) startswith 299 >
7777 endswith %77 >
T5(7%%) contains 227 >

Below are the tiles at the bottom of a procedure

" doinorder| [count _ | “while _ | :foreachin _ | [/if _ | | dotogether| eachin _ together |
variable... || assign | [/icomment |

Below are the tiles at the bottom of a functign

| while _ | ‘foreachin _ |

omment | Eﬁ?ﬁretumj’—// ~_



Given below are the panda procedures and panda Properties on the bottom right.

H . Cthis.pandal setWidth width-=299)

[ this. pandél setHeight he j
(this. pandﬂselﬂqﬂl\@
_this. pandﬂ resize i
(mls.pandﬂ resizeWidth factor: i
tmis.panc@ resizeHeight mj
- (this.pandal mm{lqﬂhlm

 (ihis pandd setPaint paint £79)
i this.panda setOpacity apacﬂyj

s panassetVehicle venicke: £779)

[ this.panc@ turnToFace farget !

(this.pandé orientTo target: .

(inis panda erientToUpright
 (his.panda pointAt target <772)

s panda moveAndOrientTo target (777



Given below are the panda functions.

€ this panda




1. (3 pts) Consider the following web page

G o (D @ https://thimbleprojects.org/shr/417818/

ACC team

Duke

Big East team
Villanova

What part of the website above was created with the HTML title tag?

a) Basketball

b) https://thimbleprojects.org/shr/417818
c) ACC team

d) Big East team

2. (3 pts) Consider the following HTML code that defines some lists.

Fred

Xiawel

Marya

Which one of the following is the way this HTML code will be displayed on a web page?

A) 1. Fred B) 1. Fred
2. Marya o Xlawel
o Xiawei 2. Marya
# Fred D] ® Fred
® Marya 1. Xiawei
1. Xiawei ® Marya



3. Consider the following html code to display a table.

Duke

NCSU

Which one of the following is the way this HTML code will be displayed on a web page?

A B
) luncpuke[wrulNesU| ) [onclpuke
WFU |NCSU
C) " [UNC [Duke D) [onc
WFU Duke
NCSU WFU
NCSU
4. (4 pts) Consider the following HTML code: and .css code:
<h2> Birds</h2> #darken {
color:darkgreen;
<ol>
<li> duck</li> #middle {
<li> swan</li> text-align:center;
</ol> ¥

Show how to modify the HTML code to use the .css code to have the Birds be
centered and the swan to appear in a darkgreen color.



5. (4 pts) Give the CSS code that will make the body of a webpage BLUE and all the H1
headers WHITE.

6. (4 pts) A six digit hexadecimal number represents a color. A color can also be
represented as a three-tuple of numbers representing the red, green and blue
components (or RGB) of the number.

A. Convert the hexadecimal number 341A0E into RGB: ( : : )

B. Convert the color in RGB (6, 43, 18) to a six-digit hexadecimal number:



7. (3 pts) Consider the following Alice code and the pig is standing straight up as shown
with Start in the figure on the left below.

[ ( (inis.pig  getLeftHip|  turn , 025  add detai

Which one of the following shows what the pig looks like starting in the start position
(on the left) and then executing this Alice line of code?

Start

8. (4 pts) Consider an Alice world with a pig and a jaguar.

A. Assume the pig and the jaguar are standing about 4 units apart. Explain what this
code would do:

E turnToFace add detail ]
E moveToward . add detail ]

B. Again assume the pig and the jaguar are standing 4 units apart. Explain what this
code would do :

[ moveTo add detail ]
[ orientTo add detail ]




9. (14 pts) Consider the following Alice code in which the lines are numbered.

[ (this.alicel * stuff value:52.0/ , something: (this.pig ]

ifif?_iéi(ihis.caﬂ getDistanceToTheLeflOf (thisjaguar add detail | > 2.0 | is true then

' l ( Cthis)* crazy items: Cthis.cat” , item2: Cthis.pig ' |* say SfWhat]'  add detail I

else
- | Civiscat setPaint (IGREEN  add detail |

o U B WN -

Cthis.fox  setOpacity E:’-Z:this.foﬂ some| add detail J

A)Na line 1, is “stuff” a function or a procedure?

B) Inline 2, what type is “This.cat getDistanceToTheLeftOf this.jaguar”?

C) In line-3;what is the name of the function and wiat-type does it return?

D) In line 3, list the word(s) that are arguments.

E) Inline 3, list the word(s) that are parameters.

F) What must be true in order for line 5 to execute?

G) hline 6, whattymestvaiae-does the function seme return?



10. (4 pts) Consider the following world that has the three objects: stuffedTiger,
marchHare and panda (shown below from left to right) and given code. The
world has been setup as shown below. The stuffedTiger is exactly 1.0 meter
from the marchHare, and the panda is exactly 1.0 meter from the marchHare.

[ this. marchHare]  move [FORWARD | add detail ]
[ turn RIGH . . asSeenBy (this.marchHare add detail ]
[ this. pand setVehicle Cthis stuffedTige ]

hls marchHare|  move , add detail ]
turn CRIGHT]" - asSeenty acd detail |
this. stuﬁedTlge move ! add detail ]

The diagram below is looking from above over the scene. The stuffedTiger is
represented by the S, the marchHare is represented by the M, and the panda is
represented by the P. The animals are facing the bottom of the page. Using the
diagram below, draw the path of stuffedTiger and marchHare asa solid line
and the path of panda asa dashed line.
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11. (4 pts) Consider the following My stery function.

{ WholeNumber ) function P y'stery
© { WholeNumber = -num1), { WholeNumber = num2|, { WholeNumjfer /= num3

/

nu J num OR [Iénum jnumg is nuethen
A) What does Alice say when the oIIov%ne of code is run?

[ say J{m é@\ mystery nume@] , num.?.ﬁﬂ:l : num3:§§l ] ]

B) What does Alice say when the following line of code is r

. say  fumber /3" + 5 G mystey_num 15, mw2 9 mms 53 ]|
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12. (10 pts) Consider the following Alice world that has three objects: panda, eagle
and bowlingPin.

The world starts as shown in the figure above with the panda and eagle facing front.
Write code to do the following in this order. When you move the animals you do not
need to move their legs, just move them.

a) The bowling pin should move over to the eagle and stand on top of it.

b) The panda turns to face the eagle, and moves over to it stopping in front of it

€) The eagle moves straight up (with the pin).

‘l daoin order
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13. (8 pts) Complete the following Alice procedure called ComeToMe whose header is
shown below. This procedure has two parameters, an SJointedModel named “critter,”
and a TextString named “phrase.” This procedure first has Alice face the critter, then
she says the phrase to it. The critter then turns to face Alice. The critter moves close
to Alice and begins to jump over her. As it passes over her the critter fades away and
disappears. In the figures below, the figure on the left shows the start. The right
figure shows the result of the first call with the cat fading as the cat goes over Alice.

Here are two calls to this procedure.
& ComeToMe Criter: (this blackCai , phrase: sThello] |
[ ComeToMe Criter: his.monkey| , phrase: JfCome to me

Complete the code below.

SJointedModel )CCritte TextString 14
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[, (10 pts) Assume there are three objects in an Alice world,/a panda, a bunny and a
tortoise, and they are floating in the air, one on top of another. Complete the
foNowing panda function called creatureAbove that has two STurnable
pararxeters, one named friend1l, and one named f4iend2. This function
returnsthe STurnable object that is highest in the ait (panda or friendl or friend2).
Here are two possible scenarios. On the left the panda is above tortoise, who is
above bunny On the right the tortoise is above Hunny who is above panda. There
are other Rilities for the order of the threg of them.

Complete thefunction on the next page.
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A) (8 pts) Complete the panda function below.

del | function creatureAbove
with parameters: | SJointedrsdel )Cfriend , ( SJointednzdel ) friend2)

declare | SJointe

B) (2 pts) Assume the panda, ise and bunny are all floatin he air with one on
top of another as described earlier inthi blem. Give tré code that calls the
function you just wrote to have the one that is hi in the air say “I’m on top”.
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